o4 pgH 111 & 07 01p

#WA&pH 111 & 070 01p

WEiA:2E ABRZ
THE s

>

3

H,

AP AR LLIMER 11 £RF L ERFH- T

3E P A R 1 ¢ 4t PHIT iE KR T EF e %
2 fy 7 2 g B (%) P p g ox
BaRER |- ~p e | 111.12.14 30,000 ~ [ 2pif4 0~ 0%
JRIFEF | FE
Z=d4pesa | 111.12.14 30,500 ~ | = v Z 2 20,400 ~ 67% g PR %3 T | 111.06. 20
i3 A
AzmEates | 11101214 5,200 ~ | & iz 0 ~ 0%
i oAn B RK A 2K
P aig g
EAHE R R
B E
Lo S AR (111012, 14 24,000 ~ |LED §& B % iz 2 %% 0%
%2 PR AR 2 0~
g
- ~2ppas 11101214 10,000 =~ | & &Rp| & 5% % 10,000 | 100% | 2R G L2 @ 111.05. 10
EEEN Y i ~
HREE (e ) H
Bl Al ARe vk
B




&

3,000 ~

- opmmsa - | 111.12.14 | 118,000 =~ | e & g =6+ 25,000 21% | w#itmt e | 111.02. 16
NF RIS RS (AT H)
#
Sz AagpmMd [ 111.12.14 | 102,300 % | 21y 0 = 49% | fE dEEat T | 111,03, 23
* 21 %2+ 50,000 ~ o
Y IET: Faxd | PoikiE S A HEYE ol e | KRS o P
P # B (%) ¥ p 3y i
CEET
Evd s | TRIRA 111.12.14 60,000 ~ | % %% 1 30, 000 ~ 50% 48 PN 111.06. 10
- AR 111.12.14 1,266 ~ | = MpEEQ ~ 0%
LARE L A2 EARELATE B30
EARELAE 1014 | 23,000 = | ERELAEBE 0%
22k ~
Ty BEHIRE R E 4L i A S e 111.06. 27
TR0, 12, 14 10, 465 =~ ) 100%
i3 % 2 H 10, 465 =~ '
P AR S 111.12. 14 46,494 ~ | pEAREH 0 ~ 0%
gAREE 111.12.14 90,000 ~ | B4 #E&E £ ()~ 0%
53 ErRze 24 0 | 111,03, 07
B s 111.12. 14 29,500 ~ | £ & 29,500 ~ 100% d’\j L
Iy 111.12.14 33,600 ~ | L/ 0 =~ 0%
iy kR 111.12. 14 1,500 & | -k 38 1,500 =~ 100% | BFKkTHE 111. 06. 05
S AR Fok Mg 2 A THokR 111. 06. 05
Gokppad 111.12. 14 3500 & | BB A % 100% kL




SR u AP T | PasEH X HEY A Wi PEEE | KERE il
2 g B (%) P g
FOMLPEAS | FoMLpEAs T 2t | 111.12.14 | 60,000 &~ | FOALpEAR T B4 EEE S 0%
T BB | B B 0=~
VS
Erw | AP R g | cAHERE WA PHLE | KRB RS
p g B (%) % p =
FhRw e | FhRw s | 111.12.14 | 30,410 ~ | Fhwjc g a0~ 0%
e | wds




